100

PDF 2022 9
HRER SECER SHLADYE » www.iwata-fa.jp

Web

DAYvbhR I

AIVF—ReI\L—-bHS5="

TINU—MBEICKD. Vv T hEBEDIF D EFLHHMITHTEXT,
Y v T MEMMIFEROERD I IO U EBECTEXT,
DAY NEDRINEFRULTIST v MNEEZRDMIF BT ENTEXT,

=1k
21168

olzo)C O

B3] SUS304
HHERS HE - RELE B
(3 $% S45C 249 RARTFRIVN(BEZ8) 24 —
M $k S45C EBRR—y/ IV Av¥ | KNANRFMHRILN(SUSXM7) 27K
s 27> LZ SUS304 RANM ARV (SUSXMT) 27K SCSS 0815 ™
AIE8mm. 1§15mm. B30
B : mm
‘ 2-M1
- N
Sal LTl
— 18 e i
— s g5 C=RE
== 7] ‘ B B nE
n® | oo | 105
(WA 2:M Y006
v L+0.1 050 | 1907
DAy ER it (F3)
WiE| 1B |52 wl x |y @z au 518
#B| L [¢D| by | ® | M | P | Mo M LI#MERS | 2w |2)7)19%SUS304
M 5
8115|3013 15 | *M3| 8 7 11510 6| M5x16 | SCSS 0815 TN | 1,420 | 1,480 | 2,510
101535 |15 |18 |[%M4| 10 7 |1.5(11.5] 6|M5x16 | SCSS 1015 TN | 1,480 | 1,530 | 2,680
12 15|35 |15 18 | *M4| 10 7 |15/115] 6 |M5x16 | SCSS 1215 JTN | 1,480 | 1,530 | 2,680
1315|3515 |18 |[%M4| 10 7 |15(11.5] 6|M5x16 | SCSS 1315 JTN | 1,480 | 1,530 | 2,680
15| 15|40 |17 [21.1 [%M5]| 12 7 |1.5[13 8 | M6%20 | SCSS 1515 JTN | 1,590 | 1,640 | 3,000
16 | 15|40 | 17 21.1 | KM5| 12 7 (1513 8 | M6x20 | SCSS 1615 TN | 1,590 | 1,640 | 3,000
17 |15 |40 |17 [ 21.1 [%M5]| 12 7 |1.5[13 8 | M6%20 | SCSS 1715 TN | 1,590 | 1,640 | 3,000
18 |15 | 45 | 185 | 256 | *M5| 15 7 |15(15 8 | M6%20 | SCSS 1815 JTN | 1,640 | 1,750 | 3,170
20| 15|45|185(256 | M5 | 15 9 |15]15 8| M6x20 | SCSS 2015 TN | 1,640 | 1,750 | 3,170
25 (15|50 |21 |271| M5 | 20 | 10 |1.5/18 |10 |M6X25| SCSS 2515 ]TN | 1,750 | 1,970 | 3,770
30 [15|55(235|286| M6 | 21 | 10 |1.5/20 |10 |M6%X25| SCSS 3015 JTN | 1,860 | 2,130 | 3,980
3515|6026 |299| M6 | 23 10 |2 |23 |12 | M6Xx25 | SCSS 3515 ]TN | 2,080 | 2,290 | 4,310
40 118 | 70 | 30 36.1 | M6 | 26 12 |2 |26 |13 | M8x30 | SCSS 4018 TN | 2,290 | 2,950 | 5,560
45 |18 | 75| 325 |37.4| M6 | 28 12 |3 |28 |14 | M8x30 | SCSS 4518 ]TN | 2,840 | 3,490 | 6,380
50 [22|85|37 |418| M8 | 28 | 13 |3 |32 |16 |M10x35| SCSS 5022 ]TN | 3,490 | 3,770 | 7,310
KEIDXIARBERLTVWERATADAEBRBELNET,
O’
DAw b+ I

iwata

PP.101



